||'5.

>

A
Ad64- 2OOOO 1227 iE
Sl & LIFT-UP FLUSH HANDLES

E3Z Feature

S 20| 2= 2 AAlol =X o RIS ZEFAMO| EHof it A MEf LI A 2|HA|
2 7| TAK60S EZ 53}

o NS 28 X A160-A-240 59| Al2Ix2} 53
Aol UBLICH (A-464-F-1)

o XQ 7|7 LA, BHSo| Alst S50l AEsiM AST

7t MER2 AE2SILC)
° QEAQ

oo

© The lock comes standard with the TAK60, a new-style
reversible key with an easy-to-use dustproof shutter.

* Installation is compatible with A-160 and A-240 etc.
(A-464-F-1)

e Lifting and lowering the handle moves the stopper plate
back and forward because they are interlocked. The
tightening mechanism is incorporated.

* Right-hand use.

o E: otAErE(ZDC 223 &3
00*“4 orFel: Mx2to|E 38 =8(MZCr)
AR o Ha 1S TAKEO S3 o
o "*% = 0~2.3 mm @
o BLE: ASH - BAEELIAL ME-7| 274
:

71 No. TAK60 S R e s
Key CIinll o 21| S5t EIQIE QELCt
o OIAE] A|AE! XX S HA|7} CHE EFY
7| No.0200= HM|=FeL|Ct,
.Mm =2 So| Axjz| & AT QL]

NNTEAN [T H » STk« min et

A-464-F-2-1-TAK60

&

A-464-F-1-1-TAK60

(H1) (H2)

11, 15 |AEE(S)
36 Stroke

o BE LA Hzstoa N T SIS Sad
27} QlaLch
A464F1 F-2:5mm(M5X 16 SW,

14

FLUSH SWING HANDLES

20__20

A 464 F-3: 4mm(M5X 14 SW, PW)
o 2 H|Eo| AEM HAIR LIS 22 4ix|2
-r|°|'| ‘Zal HIX|A 2 E2E A HASH |

L2

|H ztx 80°
Turning angle

® Material: Zinc alloy (ZDC)
® Finish: Satellite chrome plating (MZCr) g3
Sellajilty @ Key No.: TAK60

1eli @ Applicable panel thickness: 0~2.3mm 34
® Accessories: Stopper plate, installation plate,

screws, two keys =3

Selldljles| @ Server rack, distribution boards, control
use boards etc.

FENEIS] @ It can be adapted to a panel thickness by

3

/\ d i

ijZ t=1.5 || Hs| 26
Packing

o 7Y X5
Panel drilling dimensions

20 replacing the screws.
| A-464-F-1+F-2: 5Smm (M5 X 16 SW, PW) T s
| =S A-464-F-3: 4mm (M5 X 14 SW, PW) -
TN - @ |t is recommended that thread-locking fluid %E
‘\ ~ be used to prevent loosening of the mounting -
| _ - screws for the catch. R
| \#ts s s ! —
9 ' Handle tuming center
N ‘ 7| No.TAK60 azt0]
‘ Key &3
‘ Ly
‘ AET
27 ==
REYI
= HEEE B AEH Ic
Product No. Lo Lo Lsjlejls | Le L7 | W/ H) H)|(Hs) | bd|(©) Masgg) Attached stopper plate | Code 2}0]0f
A-464-F-1-1-R-TAK60 143110228 7220117102125 |94 30| 21 (45| 3 480 AC-25-E-2F |04074
A-464-F-2-1-R-TAK60 12281 (22162|15| 96 | 81 |24|79|30|18.5|4.2|2.5 425 AC-25-E-4F (04075
A-464-F-3-1-R-TAK60 89 |48 |22 /62 (15|63 | 48 |24|50|30|18.5/4.2|2.5 380 AC-25-E-4F |04076

®: RoHS10 thEE A: RoHS 1001 thS 7+sEitIch.

TAKIGEN

226

273




